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/_ General Instructions to Candidates : . \

allgjodmale ds688 easomy aldegooenacd:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
aANnswers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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Answer all questions from
question numbers 1 to 5. Each
carry one score, (6 x1=5)
1. The

components of secondary sector

following are the

a) manufacturing
b) construction
c) trade ' g

d) electricity, gas and water

supply

2. The advantages of a particular
mode of data collection is given
below. Identify the mode of data

collection.
® Highest response rate

e Better for using open ended

guestions

e Allows clarification of

ambiguous questions

e Allows the use of all type of

guestions
a) Personal interview
b) Telephonic interview
¢) Mail the questionnaire

d) None of these
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The following factors responsible

for land degradation except ....
a) shifting cultivation

b) improper crop rotation

c) afforestation

d) indiscriminate wuse of

agrochemicals

The mid point of '10-15' is .........
a) 7.5

b) 10

¢) 125

d) 2.5

Golden Revolution relates

a) Horticulture
b) Sericulture
¢) Pisciculture

d) None of these
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6. Match the columns 'B' and 'C' with column ‘A", (5 x1=35)
A B C
a) | Green Revolution BRICS Base Year
b) Index Number Mail the Questionnaire Quartile Deviation
c) SA;ARC _ HYV Seeds Telephonic Interview
d) | Personal Interview Mean Deviation Use of Fertilizers
e) Lorenz Curve Current Year ASEAN
6. A esoneem B, C ng}nm-mgmgmumﬂ eaidjonls] aniddaed. (5% 1=5)
A B C
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Answer all questions from
question numbers 7 to 11. Each

carries two scores.

7. Categorize the following
programmes under the heads of
wage employment and self-

employment programmes.
a) REGP
b) NFWP
¢) PMRY

d) MGNREGS

8. Workers can be classified in

many ways. One type of
classification is casual wage
worker and regular salaried
worker. Cite two examples of

them,

9. Human capital and human
development are interrelated.
Point out any two relationships

between them.
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10. Classes can be arranged
in inclusive and exclusive
manner. Point out any two
features which help us to

distinguish them.

11. Calculate the Mean Deviation
from Median for the following

observations.

Values: 3, 5, 8, 2, 4

Answer any six questions from
gquestion numbers 12 to 18. Each

carries three scores. (6 x3=18)
12. Statistics helps the economics in

various ways. Cite three

instances for it.
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13.

14,

In the field of infrastructure, the
British Government took many
initiatives during the colonial
period. Do you consider that,
these are the poéitive

contributions of the British?

Substantiate.

The Industrial Policy Resolution’

of 1956 formed the basis of
Second Five Year Plan. It was a
milestone in the history of
Indian industrial development.
Point out the important features

of the policy.
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15. India, China and Pakistan had started their development strategies almost
at the same time. Observe the following table and draw three inferences

regarding the state of Human Development of these countries.

Some selected indicators of Human Development 2012-13

Item : India China Pakistan
1) | Human Development Index (Value) 0.586 0.719 0.537
2) | Human Development Index (Rank) 135 91 146
3) | Life Expectancy at Birth 66.2 76.2 66.4
4) | Adult Literacy Rate 62.8 95.1 54.7
5) | GDP Per Capiti:. (PPP US$) 5238 11524 4549
6) | Infant Mortality Rate 41 11 69

15. om@ie He2MWie alddE:|MadMme afdedtte BT dpopimmoem afleomum mOmesud
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4) | ayefidenaudies muosaiomo Mines 62.5 95.1 54.7
5) | sadl.al. pafididato (allad.oll @pgmd $) 5238 11524 4549
6) | Infant Mortality Rate 41 11 69
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16. Arithmetic

17.

Mean has an
interesting property. Identify

and prove it with an example.

Statistics and Economics are
closely related. Some statistical
tools and their uses are given

below. Match them correctly.

16.
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a) | Median, Correlation, Standard
Deviation
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18. Environment and sustainable

development are  inter-
connected. List out any six

functions of environment.

Answer any four questions from
question numbers 19 to 23. Each

earries four scores.

19. Details given below shows the
height of 25 participants in a
selection test. The minimum
required height for the post 18
170 cms. Prepare a frequency
distribution table by exclusive
method by taking class interval
of 5. Find out the number of

participants selected.

(4 x 4 = 16)
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160, 164, 170,
165, 173, 1717,
166, 174, 168,
173, 171, 172,

179, 163, 168, 162,
175, 164, 172, 178,
179, 176, 172, 178,
178
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20. Calculate the price

21.

22.

index

number.

20.

rufles mopaiamoee R EETIB I Lo,

Price of the commodities in 2016 — 2017

2016 — 2017 & pelumemees alle

Price of the commodities in 2011 - 2012

2011 - 2012 o gelimemagies aflel

"If the misery of the poor be
caused not by the lawsof nature,
but by our institutions, great is
our sin". — Charles Darwin.

In the light of this qtiotation, list
out and analyze the causes of

poverty in India.

The development of health

infrastructure ensure a country -

of healthy manpower. Whether
the present status of Indian
infrastructure is sufficient to
the

keep people healthy?

Analyze,

K-430
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23. Scores of 40 students in an
examination is given below.

Caleculate the Mean.

Score No. of students
0-10 4

10-20 8

20-30 10

30 - 40 8

40 - 50 6

50 — 60 4

Answer any two questions from
question numbers 24 to 26. Each

carries five scores.

24. The concept of human capital is
relatively more important in
labour surplus ecconomies like
India. To make human capital

the

formation possible
Government has to address
sOme areas.

Identify these areas. Ar}alyze the
relationship between human

capital formation and economie

growth.

K-430
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25. Now-a-days people discuss more
about organic farming. Why?

Discuss the following :

a) Advantages of organic

farming.

b) Organic farming and

sustainable development.

26. Calculate Karl Pearson's

coefficient of correlation.

25.

26.
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Answer any two questions from
question numbers 27 to 29. Each

carries eight scores.

27. Antoine Augustin Cournot in
1843, was the first who used the
term Median for the value that
divides a probability

distribution inte two equal

halves. Median can be located
graphically with the help of

Ogives. Draw Ogives and locate

the median by wusing the

following table.

(2x 8=16)

Scores No. of students
0-5b 5
5-10 10
10-15 20
15-20 30
20-25 20
25-30 9
30-35 5
35-40 3

28. We learnt that, Iandia

implemented New Economic
Policy in 1991. It affected all
sectors of our Ecopsmay. On this
basis :

K-430
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a)

b)

List out and analyze the
reform measures adopted in
agriculture, industry and
financial sectors.

Critically evaluate the
impact of these economic
reforms in the measures of
agriculture, industrial and

finanecial sectors.

29. Calculate the quartile deviation

and coefficient of quartile

deviation for the following

distribution.

X F
0-10 4
10-20 6
20 - 30 9
30—40 13
40— 50 10
50 - 60 5
60170 3

K-430
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X F
0-10 4
10— 20 6
20 - 30 9
30 - 40 13
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